
1
An = ncense ,

Pso .

10 Let fix) = xilxiP

98 Fixidx = Sexilxpdx
= So up du

20..Co , wherebyp-sa
· SUPduCon,where (by intergal test
. nik & Ch, whereby intergate a

2. I

n !
n= 1

I
Let bu =

nn-
- an = in

1
him -
= n+ - n
= (1 -2) + (t - 5) + (5 - f) + - .. + (xt - (b)
= !-

· 1 lim
m nin
= nin = Bl-t =1 nin is conv

0 I
. is cour.
n=1

n'
.



3. Inn
n= 1 n

10 Mun > n

= Inna b
If 3 - + > 1 = 24

Take x=

=>n
I

: I
pa is conv.

... In/ is cour.
4. 8 cosmi =* (1

n=1
M n=1 n

: An+An
,
FHEIN.

.. P = 0
.

... by alternating series test, Cost is cone


